- gd HreAtHeh Il adet (her 8 &), weadt 2023
ASH .

ud

o . - 11
AT : 02:00 o 03:30 HTedY ' %'é |

T T 150 AT | F FgaT TTevil

TAUS T hiH | Ug Fuat e 33 o FEei @ sy ug

(1) 39 S99 o &1 WFT 2| f58d & 9w - 18 gl 9w fow @ gafia 19 25 3R 9 1§ gigaan
=l fawa | HEd 26 € 75 WA U9 T 2| @ 75 T T HAT AR 3|

(2) IS T 2 37 & AT B

(3) Uv9A A B o I A 90 fire w1 o T S|

(4) WA o fow Taaa Iaabrent € S| Teish T AT o A1 9 e o 7w shargar <reiga
fau me ) e & w3 - faehew W defam w1 e fw T seEwmEER W)
321 Y9 . 6 1 el I faehed 3. 2 7, A1 AT g AR W W)
T F. 6 DOOD

(5) = fe3 U SeEw & SR ifhd T e ST T TE fhu S| 3w wehw sifsd fehr T gw
% IWH A 37 fg s D OO

(6) T H T 20% T WH B e 4 3 - foehew § @ fashe @t 871 9 1 Taheu 2afeha
T A 2| feeh fore yeai & ame wigs ¥ gt wel faeew A v frew feam g

(7) ‘S ad fawew g @ Fcw o IAfafen o foRet ot woA % foT we @ <1fves dieiga @l W
Fargifera v W 3| I 1 Wi T foran Sram|

(8) U R 3ifeha fohT MU I &I et TET ST Hehdl |

(9) forerew & IR 3iferd T & TTU Shaet et R A TT o Fiau= 1 & 3EadT i | I8 @ 3ifeha
IR Tl T fopn S|

(10) S99 % Tk g8 & A= 3R 31w g8 W %= &M (Rough work) & T @reft 518 7, a& &=
%M (Rough work) &l

(11) wdier shr arafer wifed g9 o ST Afe fhHt I3 <1 3T T &I 9aT &1 dF AT & 3T g Hi
31d W qHI S W IE T YT oh T G T |

(12) ot o & e /mrereht aitarfera g9 W wideres an qdien ohy d=mets o foam fomst a1 &)

(13) wod ® Ffe /mrert /gaes weig § fae faemer steran stfvvrespi g wvg freronfersert = fremoreiferenrt
% fetfed €9 5 7 9ot gefod foame™ & Athe 8 Afaarsd ughd 3 & 99|

(14) e/t /zaes gaa § feeT s ugfa @ 99 it srafe wen uitvg & e wom & st
(areemeh) ST g % U B9 @ st 10 (28) fod @ @it

(15) oo QMY AT 3= HROT & T Tt IRerferd g+ W T afifa o fofkmgan o swrfardt 6 Sef

(16) Het wreaw o ey S wrar # off o fezm mn 71 gt mewm % wigy yet & fore o ye gd|
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01.

02.

03.

04.

0s.

Section - I
English
Fill in the blank by using comparative form of the verb.
My car is quite slow and I want to get a (fast) one.
(1) faster (2) fastest
(3) more fast (4) most fast

Choose two correct modal auxiliaries showing possibility in the following
sentence.

Rohan write in his notebook.
(1) could (2) must
(3) can (4) should

Look at the following slogan and choose the correct option for the given
question.

‘Each one-teach one’

This slogan is used for

(1) Literacy awareness programme (2) Green revolution programme

(3) Health awareness programme (4) Addiction awareness programme

Read the following sentence and choose the correct alternative.

The door by the teacher.
(1) 1is being shutting (2) were being shut
(3) are being shut (4) 1is being shut

Complete the web of adjective for the word given. Choose any one correct
option.

Clear
t
? Sun golden
v
Orange
(1) bright (2) dim
(3) black (4) dull

SPACE FOR ROUGH WORK
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Instruction for Q. 06 and Q. 07 -

06.

07.

08.

09.

10.

Read the news and choose the correct option.

E Seminar on Diabetes :]

On 29" September, on the occasion of World Heart Day, New Vision
School, Mumbai organized an interactive seminar for the parents of New Vision
School. Dr. Sanjay Gupta, the Senior diabetologist was the main speaker for it.
Approximately 152 parents attended the seminar. This seminar was organized
by Doctors' Medical Association along with school.

Choose any one correct option for the given question.
The seminar was organized for .
(1) all (2) teachers

(3) students (4) parents
What kind of seminar was organized by the school?
(1) recorded (2) wvocal

(3) interactive (4) written

Choose the correct option from the following which shows the pronouns.
Sun Wakang is brave and intelligent. But he is also a trickster. His body is
as hard as diamond.

(1) also, and (2) as, 1s

(3) he, his (4) brave, intelligent

Choose the correct option to identify the tense of the underlined words.
The train has started before I reached the station.

(1) past perfect (2) present perfect
(3) present continuous (4) simple past
Choose the correct alternative from the following clalel 211
to complete the puzzle for the meaningful words. -

? A
(1) a (2) o N M
(3) e 4 i ?

SPACE FOR ROUGH WORK
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Instruction for question no. 11 and 12.
Read the passage and choose the correct alternative.

When they arrived at the seaside, out jumped all the children with a
shout of joy. Down to the sands they raced, hand in hand - but Nobody took
Hari's hand. Nobody went near him.

Hari was angry. He went to a sandy corner near a rocky pool and sat
down by himself. He took out his lunch and looked at it. It was a good lunch.
There were two hard-boiled eggs, six jam sandwiches, three pieces of bread and
butter, a ginger cake, and a bar of chocolate. He would eat it all by himself.
He wouldn't offer anything to anyone!

11.  Complete the web by choosing 2 correct options.

Cake
i
? Hari’s Lunch eggs

v

?
(1) bread and butter (2) juice
(3) biscuits (4) bar of chocolate

12. How was the pool?

(1) sandy (2) narrow
(3) deep (4) rocky

13.  Choose the correct option for the underlined part of the following.

Charuta wants to decorate her bungalow. For that purpose, she visited a person
who is master in beautifies the inside of a house.

(1) building contractor (2) merchant
(3) sailor (4) interior decorator

14. Read the sentence and recognize its type by choosing the correct option.
Bind up the wound with a bandage.
(1) Exclamatory Sentence (2) Imperative Sentence
(3) Interrogative Sentence (4) Assertive Sentence

SPACE FOR ROUGH WORK
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15.  Fill in the blank by choosing the correct option for the correct conjunction.

He worked hard to sell the wood in the morning grains in the evening.
(1) Dbecause (2) so
(3) and (4) since
16. Choose the correct alternative
to complete the following set <D PIT H]L|PTS
of words. AT S|| C| A|] T]|Q
(1) decoration P| HNWHKNR | T| O] S
(2) relatives LIMITEINANE | P I
3) " B| AJ||E|]|] C NL[NY | Z
crackers
s |1 ||| k||AN] G
4 loth
() cloths A| B |[S]|| E |[M|| H| V
Al O|C|R|P]|W|P
S| T| M| S| Q| N|P

17.  Select one correct option for the underlined word to make it opposite of it.

If you do not wake up early in the morning, you are for school.
(1) late (2) early
(3) pertfect (4) in

18.  Choose the correct alternative that shows the correct meaning of the underlined
words.

They received the president of the college with open arms.

(1) with someone's presence (2) with excellent work

(3) with fear (4) with warm welcome

SPACE FOR ROUGH WORK
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Instruction for Q. 19, Q. 20 and Q. 21 -
Read the passage and choose the correct alternative.

Many years ago, at the foothills of the kaatskill (kat-skill) mountains,
was a little village. In the village lived a simple, good-natured fellow named
Rip Van Winkle. He was a kind neighbour, ready to help anyone. Everyone in
the village liked him. The children of the village shouted with joy whenever
they saw him because he played with them, he taught them to fly kites and
shoot marbles and told them long stories.

The only problem with Rip was that he was very lazy. He did no work
on his own farm and just idled away his time. His fences were falling to pieces.
His cow was going astray. Weeds grew on his farm. Rip's constant companion
was his dog, named Wolf. To avoid work, he would walk away into the forest
with his dog.

19. What did Rip Van Winkle teach to the children? (Choose any 2 answers)
(1) to write poems (2) to fly kites
(3) to tell stories (4) to shoot marbles

20. Who was wolf ?
(1) boy (2) wolf
(3) dog (4) wvillager

21. Match the pairs.

A B
1) fences a) going astray
2) cow b) falling to pieces
3) weeds c) mountains
4)  kaatskill d) grow on farms
(1) 1-b; 2-a; 3-d; 4-c (2) 1-c; 2-d; 3-a; 4-b
(3) 1-d; 2-a; 3-b; 4-c (4) 1-a; 2-b; 3-c; 4-d

SPACE FOR ROUGH WORK
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22,

23.

24.

25.

Read the following pairs of homophones and find out a pair which is not a
homophone. Choose any one correct option.

(1) Steel - still (2) though - thought

(3) main - mane (4) right - write

Observe the following website and choose the correct option for the given
question.

WEWTZ WEA  Government of Maharashtra SKIP TO MAIN CONTENT Q & (\ ENGLISH

iR
NASHIK DISTRICT a et

HOME ABOUT DISTRICT v CORONA VIRUS-COVID19 DIRECTORY Y  DEPARTMENT v TOURISM v DOCUMENTS v/ NOTICES v === MORE

HOME / DIRECTORY / PUBLIC UTILITIES / UNIVERSITIES / Maharashtra University of Health Science (MUHS) 9 <7 ’ =2

Maharashtra University of Health Science (MUHS)

Maharashtra Health Science University, Mhasrul, Vani Dindori Road, Nashik-422004.

Email: registrar{atimuhs[dot]ac[dot]in
Phone: +2532539100

Website : https://muhs.ac.in/
Category/Type : University

What is the above website about?
(1) Social Science (2) Mathematical Science
(3) Environmental Science (4) Health Science

Choose the correct option for the indirect speech.
The mouse shouted,"Let me go".

(1) The mouse shouted that to let him go.

(2) The mouse shouted to let him go.

(3) I shouted to let mouse go.

(4) The mouse shouted that let me go.

Find the meaningful word from the following jumbled letters.
EATRTHE

(1) EARTHE (2) THROWING
(3) THIEF (4) THEATRE

SPACE FOR ROUGH WORK
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SECTION - II

INTELLIGENCE TEST
Directions Q. 26 to 28.

Identify the rhythmic arrangement of terms given below and find the correct term
in place of the question mark.

% NIENRIRIATEEAN RN

0 AAN @ BN

3 WHH Ol
27. mnnsem?senmsen?m?nns

(1) nen 2) nme

(3) nne 4) esn

28 5217417457422 1721745

() 725 2 275
() 572 4 752
29.  Health is wealth means  [Choose two correct options from the following.]

(1) Good health is the real wealth.
(2) Good health is equally important as wealth.
(3) Health and wealth are dependent on each other.

(4) Good health is enjoyed only by rich people.

SPACE FOR ROUGH WORK
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fawm - 11
gigaan <=t

9T 26 § 28 &% fotu wEeT -

26.

27.

28.

29.

fou ™ WUy W % UGl % HA R WIH H @R WA e % WE W
AWAT 9 W H " gHT

ANMNENRIRIAMNEHANRIANI]

1 AN @ BN
3¢ HHY @ [MBEH
mnnsem??senmsen?m?nns

(1) nen (2) nme
(3) nne (4) esn

52124174524221721745
1 725 2 275
3) 572 @) 752

‘Aemur I YAA@l H AH HEI| W AW 6 Ggek w1 A4 ggETu)
(@ = )

(1) <& T

(2) SAUHEIT T

(3) g HEI

(4) GAMHE ST

T wE Fq T
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30.

31.

32.

33.

34.

The ratio of the present ages of Aashish and Aditya is 4:7. Eight years hence, the
ratio of their ages will be 2:3. Find Aditya's age five years ago.

(1) 28 years (2) 19 years
(3) 23 years (4) 11 years

Ishan told Aradhya “You are the daughter of my mother's sister-in-law.” How 1is
Aradhya related to Ishan's father?

(1) daughter (2) cousin

(3) niece (4) maternal aunt

In the following number series find the odd term.
2, 3,6, 10, 18, 27, 54, 81, 162

(1) 54 2) 10
(3) 162 4) 242

Ninad walked 5m. East. Then he walked 2.25m. North. Then he turned to his right,
in right angle and walked 5m. Now what will be the minimum distance from the
original position?

(1) 1025 m 2) 10.50 m
(3) 925 m 4) 12.50 m

Choose the correct alternative to complete the question figure.

Question Figure: Answer Figures:
-
N / - ] ]
(1) 2) €) (4)

SPACE FOR ROUGH WORK
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30. iYW T offccy & TddM Y W1 UM 4:7 B A § I¥ Wg Ik A
H AU 2:3 B, A Afeed H U= a9 UgA MY Tehai?
(1) 28 @ 2) 19 =9
3) 23 = @) 11 =§
3. SWH ST ¥ hEal B, qE W W % e f e BT @ smen
M & fUart &t wn gefe
(1) <sH! (2) WSl
(3) wrsft (4) =h
32. F demiiee § @ e 9g qgEhu
2, 3, 6, 10, 18, 27, S4, 81, 162
(1) 54 (2) 10
3) 162 4) 242
33. fre gd i 3 5 f. Yo WM 9@l ¥ 98 I HI AR 2.25 W Yoo
T 98 9% gifgd IR T H gee S5 Ht g T O g wH @
0 W FU fhaar ARw FM?
(1) 10.25 #t (2) 10.50 =t
(3) 9.25 #t (4) 12.50 #t
34. = wwAeRfd & O ®wH % g 3fa wE g
T TR : Il HATHIAAT :
N
N -/ - ) N
(1) (2) 3) (4)
T wE Fq T
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35. In a Zoo, no animal is having any physical disability. Total number of legs of

deers and ducks together is 52 and the total number of heads taken together is
19. Find the number of ducks in the Zoo.

1y 7 Q) 14
3) 10 @) 12

Directions Q. 36 and 37.

The number of players playing different games in a school are given in the following
Venn diagram. Observe the figure and choose the correct alternative to answer the
questions that follow.

8
/ 5 ) Chess Players
Cricket Players —s 5/ 4
3
/ 10 <— Hockey Players

36. How many players play indoor games?
(1) 8 2) 19
3) 18 4 13

37. By What percentage the number of players playing only chess is more than the
number of players playing all the three games.

(1) 60% 2)  40%
3)  75% 4)  160%

SPACE FOR ROUGH WORK
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35. foel wofemmeem # @t yoft wiitdes o @ "@u= 21 fewr qun we@ g
W I e 52 dur T H wen 19 7, 9@ GuEe™ il Se@i il GEln
fepat gt ?

(1) 7 2) 14
(3) 10 4 12

T 36 9 37 & forw g=m -

e a7 omfa # foreht fogamem & faonfea ft e & W R S
fftgo @ 9 e & e Wi § @ ghu

e 8 el QerEr
e WerEe 5

<— Blehl WeraTed

10

36. ¥ WA Woad A fohad faemdl 27
(1) 8 2) 19
(3) 18 4) 13

37. fo% gcfoee @oqaml 86, dHl @d WoHdard faereE | fohdd wiasa

At 87
(1) 60% (2) 40%
(3) 75% 4)  160%

T wE Fq T
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Directions Q. 38 and 39.
Identify the water reflection of the question figure from the given alternatives.

38.  Question Figure: Answer Figures:
39.  Question Figure: Answer Figures:

w@@@@

Directions Q. 40 to 44.

In each of the following questions relation between the third and the fourth term
is the same as that between the first and the second term. Find the term to replace
the question mark.

40. 23 : 49 : : 41 : ? (Select two correct alternatives)

(1) 16l (2) 125

3) 85 4 92
41. Gold : Au : : Silver : ?

(1) Ag (2) Al

(3) Fe 4) Cu

SPACE FOR ROUGH WORK
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T 38 & 39 & fog ger -
= yeepld it @ wfdfoearet omRfd W ® o® g

38.  UeA IMTeHIA: I ATHaAT :
Q) 2) (3) 4)
39. U¥ 3ATH(d: IeR HATRET :
i sl
(1) 2) 3) (4)

T 40 | 44 & Tow gEAT -

UEd UG H GHL UG © & HEY @ 3l oF ey el IR WY ug ¥ R
g WH W @R YW fUEd % WM W SAHe b glet:

40. 23 : 49 :: 41 : 7 (T W@E FEW)
(1) 161 (2) 125

B R R R AR SR R R SR SR SRR R
i e e e R R R R N e N

(3) 85 4) 92
41. 9HT1 : Ay : : @@ 7
(1) Ag 2) Al
(3) Fe (4) Cu
TF & 3d T
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42.  Mango : Fruit : : Ginger : ?

(1) Leaf (2) Root

(3) Stem (4) Vegetable

43.

41‘%
o

O (ONG)
BB AR [l @&l
o0 y o0 -, o0 y Q o0
o A o | o A N
() (2) €) (4)
44. DH : N :: BF : ? (Choose two correct alternatives)
() I 2) R
G W 4 ]

Directions Q. 45 and 46.

In a certain code language the word HAD is written as 532, SHE is written as
145 and DIE is written as 391.

45. How will you write the word HIS in the same code language?
(1) 354 (2) 294
(3) 594 4) 539

46.  Which of the following word will be formed by the code 4293?
(1) DEAD (2) HEAD
(3) PAID (4) SAID

SPACE FOR ROUGH WORK
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42. w®q : 99 ; : US| o: ?

(1) ¥d (2) zHa

(3) Mg (4) fafm

43.

(1 1 (2) R
3 W 4 J

U9 45 9 46 & T gEAT -
fort dihfaes w1 # 0w 98 wWeg 7458, Sfidw I® Wee 3786 I T
Ig Weg 5826 3@ dE ferar ar...

45. ‘fpam’ 3@ wee w1 wHESeff wee e § @ form wesfas TRl @ el
SR ?

(1) 683 (2) 745
(3) 685 (4) 785
46. 2785 TH Hichideh Il W dIN BHATAT Ve hiA-HT JARFM 7
(1) =& (2) &h
(3) &R (4) =R
T wE Fq T
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47. In a certain code language COT is written as ELV, SUN is written as URP. How
will you write the word PIG in the same code language?

(1) RFI (2) RHI
(3) RGI (4) QJH

48.  Identify the correct mirror image of the question figure from the alternatives given.

Question Figure: Answer Figures:

(1) 2) €) (4)

49.  The paper as shown in the question figure is folded and shaded region is cut as
shown in the question figure. How will the figure look like when the paper is
unfolded. Choose the correct option.

Question Figure: Answer Figures:

(D) () ©) (4)

S50. In a certain year, Environment Day falls on Friday. Then on which day Children’s
Day will fall in the same year?

(1) Monday (2) Sunday
(3) Thursday (4) Saturday

SPACE FOR ROUGH WORK
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47. et wiefos wwr § ‘COT’ weg &1 ‘ELV’, ‘SUN’ 3e¢ @l ‘URP’ fer@d
2, @ PIG Weg & HH for@m?

(1) RFI (2) RHI

(3) RGI (4) QJH

48. fr= ywmepfa & gw H fowreh e wfem wiE § @ ghw

P&y olye

49. T TR % HEE R AGH BMEMhd WA W H AR @ar, df TH
AR T % fhE Rfd K @ feEs e

T TR : E1c e o
(1) (2) 3) 4)

50. 3Afg ‘wfawor fed’ ygham & B, o I e H 9@ # GR eH-d

B R R R AR SR R R SR SR SRR R
i e e e R R R R N e N

g ?
(1) HHaR 2) Ew
(3) TEAR (4) wHER

T wE Fq T
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51.  In the following number series, how many times two prime numbers follow each
other consequently?

357426379425324975629
(1) 8 (2) 6
G) 7 4 5
52. In the given alphabet series to get the word opposite in meaning of the word
‘beautiful’, which will be the correct order of numbers?
(1) 21, 10, 25,12 2) 21,7, 11, 25
3) 21,7, 12, 25 4) 12, 21, 8, 25

Directions Q. 53 to 57.

Find the odd term.

53. (1) talented (2) dull
(3) intelligent (4) bright
54. (1) Potato (2) Ginger
(3) Elephant foot (4) Sweet Potato
55. (1) 289 (2) 143
3) 221 4) 187
56. (1) SUW (2) BCE
3) MQS (4) EGK

SPACE FOR ROUGH WORK
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S1.

52.

e T H H 3 HEAT WS @ Bl dl UH TRl SR geT 7
IpATE - 357 4263794253249756209

() 38 (2) 6

3) 7 4 5

TEdeh, YRSUT, NN, Uiclh, UNIUR UO9E, U 3T Weal I IUIHE ¥ e
W dh HET H HIA-AT Ieg BN ?

(1) dRIfors (2) e

(3) TR 4) W

9T . 53 ® 57 & foru wEAT -

g H Ud 9 @A 9 g

53. (1) @ (2)
(3) gl (4) =

54. (1) 3T (2) et
(3) gd (4) TTRTHT

55. (1) 289 (2) 143
(3) 221 4) 187

56. (1) SUW (2) BCE
(3) MQS (4) EGK

T wE Fq T
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(1) (2) (3) 4)

Find out the rule underlying the arrangement of numbers in the following question
and choose the correct alternative that will replace the question mark.

/IN DN /N

(1) 4 2 1
G3) 3 “4) 2

Observe the numbers given in the following square and choose the correct alternative
to replace the question mark. [Choose two correct alternatives]

35|28 | 13

17| 2 |52

62 | 43 | 22
(1) 73 2) 85
3) 8 4) 10

SPACE FOR ROUGH WORK
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57.

(1) (2) (3) 4)

58. T WA H TwAlEd % TH W RE-H HEAT AR 7

LN L

715 3‘8 6 | ?

(1) 4 ) 1
3) 3 @ 2

59. = 99 H oy FEd % WE W RE-€ g@n R (3 W@ )

3528 | 13
17 | 2 | 52
62 | 43 | 22
(1) 73 () 85
3) 8 4 10
R R I ol
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60. Find the hidden part of the question figure from the alternatives given.

Question Figure: Answer Figures:

BN

(1 (2) ) )

Directions : Q. 61 to 65.

In the following series determine the rule underlying the series and find out the
term in place of the question mark.

61. 6,6,9, 18, 45, ?

(1) 90 (2) 145
(3) 125 4) 135

62. 3,8, 15, 26, 43, 68, 103, ?
(1) 150 ) 120
(3) 206 4) 152

63. OxAO+ XxOAO+ xAOO, ?
() XAO+[O 2) XAOO+
3) O+xAO @) AxOO+

64. YX, WU, TQ, PL, ?
(1) KE (2) LE
(3) JE (4) KF

SPACE FOR ROUGH WORK
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60. T TS UATH W BY T WA H WE W H FHU
T AT : Sea SATehR{aET :

R | B A K| =

(1) 2) ) (4)

T . 61 | 65 & forw g -
e mifeest § wv fogd & T W AHETen 9g Wi § @ g

61. 6, 6, 9, 18, 45
(1) 90 2) 145
(3) 125 4) 135

62. 3, 8, 15, 26, 43, 68, 103, ?
(1) 150 2) 120
3) 206 @) 152

63. OxAO+, xXOAO+, xAOOH, ?

(1) XAO+O 2) X AOO+
3) O+xAO 4 AxOO+
64. YX, WU, TQ, PL, ?
(1) KE (2) LE
(3) JE (4) KF
TF & 3d T
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danyan
NN

CTA (o)
AP,

T A

NI

(1) (2) (3) 4)

In a queue Vihan is at 23" position from left and Sonal is at 15™ position from

right. There are four boys between them. Find total number of children in the
queue. [Choose two correct alternatives.]

(1) 41 () 31
(3) 32 4) 42

Directions: Q. 67 and 68.

Choose the correct figure from the alternatives given that exactly matches with the
question figure.

Question Figure: Answer Figures:
(1) 2) €) (4)

SPACE FOR ROUGH WORK
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anyal
NPDANYY

ayan

(1) (2) (3) “4)

66. Tt Uh HaR W fagm & W€ A T 23 A qUT HAA & T AR H
15 & AT Bl GHI % AL W TR o= B, A 39 Hak H HA fohad
= g7 (A W g)

(1) 41 ) 31
(3) 32 4) 42

U9 . 67 @ 68 % Toru g -
TR § §-9-3 WoWdae A W@ § " g

67. UIT SATHRId: 3R SATRTaEl :

o) |E5))|E9)|EE)||(E5

(1) (2) (3) C))
TF & 3d T
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68.  Question Figure: Answer Figures:
()
@“?5 H
‘ ) () G
2) €) (4)

69. At which position from right, will be the letter, which is at equal distance from
the letters I and U; in the given alphabet series.

(1) 11t Position (2) 12t Position
(3) 10™ Position (4) 8t Position

70. In the given alphabet series first and third groups are interchanged, similarly fifth
and second groups are interchanged and a new Alphabet series is formed. Then

which letter will be at the middle position between the letters Q and M in the
new Alphabet series?

(1) O 2) A
3 X 4 Y

Directions Q. 71 and 72.

A wooden cube is painted red on the opposite two surfaces, green on the other
two opposite surfaces and blue on the remaining opposite surfaces. The wooden
block is cut on all the faces thrice at equal distance. Then

71. How many cubes have only two colours red and blue?
1 8 ) 12
3) 10 4) 4

SPACE FOR ROUGH WORK
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68.

69.

70.

U9 3ATeRTd: el TSI ;
) (&
(1) 2) 3) (4)

sreArer B 1SN U 3 el § waW gt W S o1eR R, 9% o S ¥

$H-U SHHTH T 87

1) 113 2 124
3) 10§ 4) 834
oAt H Ugel dor el TR Rl WER Sed feATl WM dem g TR

# ff R wed fear @ AR BHAll 98 S1eHTen WOQ MM 3 e
& o= di " U WAl IGR hI-TT BI?

(1) O 2) A
3 X @ Y

T W, 71 9 72 & g geen -

71.

fRell Th TR TR TR 3IHeh W@ U8 W A, B, dll W A H
i frn 3R 38 |t gsei wae g W e T dl...

A qel AT T % fohad ek dAR ERIY
() 8 2) 12
(3) 10 4) 4

T wE Fq T
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72. How many cubes have only one face painted?
(1) 36 ) 12
3) 24 4 30

Directions Q. 73 to 75.

Observe the following pyramid of numbers and choose the correct alternative that
will replace the question mark in the questions that follow.

15
27 22
19 34 17
25 12 31 33
28 32 37 26 21
14 18 23 39 13 36
20 38 29 16 35 24 30

73. 25321237 : 33263137 : : 38182923 : ?
(1) 24133916 (2) 24133539
(3) 30362413 (4) 39351324

74. 28, 20, 38, 32, 37, 29, 16, 26, ?, ?
(1) 13, 35 2) 35, 21
(3) 24, 30 4) 21,35

75.  Choose two correct alternatives for the following question.
271912 : 311722 : : 281438 : ?
(1) 322329 (2) 243621
(3) 292332 (4) 373916

SPACE FOR ROUGH WORK
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72. fk wH W ¥ G SR B TR R

(1) 36 (2)

12

(3) 24 4) 30

T . 73 | 75 & TU g -

feafafaa fiifre &1 fligo s 3us o/l i w1 & IER WA e

% THE W AW 99 g

15
27 22
19 34 17
25 12 31 33
28 32 37 26 21
14 18 23 39 13 36
20 38 29 16 35 24 30
73. 25321237 : 33263137 : : 38182923 : ?
(1) 24133916 (2) 24133539
(3) 30362413 (4) 39351324

74. fuffre o fiftew o g fogd & oM W wEs: SAHae @' -

28, 20, 38, 32, 37, 29, 16, 26 7 7

1) 13, 35 @) 35, 21
(3) 24, 30 @) 21, 35
75. fu T fife % oMY W W TuEd % WM W WA 9Yg  dgdiu:
@ watg gfo)
271912 : 311722 :: 281438 : 7
(1) 322329 2) 243621
(3) 292332 4) 373916
T wE Fq T
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